IB History

The Weimar Republic
-By 1918, Germany was in shambles because the armies were in retreat, the navy was in mutiny and the population was rioting because they were being starved by the British blockade. 

-On November 9th, the Kaiser Wilhelm II abdicated, and a civilian government took over from him on the advice of General Hindenburg and Ludendorff. 

-In January of 1919, the people elected an Assembly who made a constitution for the new republic. The Parliament was called the Reichstag, and was run by proportional representation. There would be an elected President as well, who could dismiss the Chancellor or the Prime Minister, and govern by decree (don't need Parliament's approval to pass laws) during an emergency. 

-Friedrich Ebert was the first President, and a socialist. He was not a revolutionary, and he believed that the Parliament should just run the way it was running. 

-The Spartacists (Karl Liebnecht and Rosa Luxemburg) wanted a Communist-style revolution in Germany, and in January 1919 they led a rebellion in Berlin against the new government.

-The Frei Korps put a stop to it quickly, and they were ex-servicemen who were violently opposed to communism. 

-So, Berlin was too dangerous for the new government, so it was set up in Weimar instead. in June 1919, Ebert was forced to sign the Treaty of Versailles, which put Germany at the feet of the Ally countries. Because of this, the Weimar Republic was forever associated with this humiliation, and many Germans despised them because of it. 

-The Socialists, The Catholic Centre Party, and the Democratic Party supported the government, 
but were abused by those who were opposed to it, the Nationalists (rich land-owners who wanted the Kaiser back and set up the Frei Korps and hated communism) and later on, by the Nazis. 

-The Frei Korps tried to forcefully take over in Berlin in 1920. This was called the Kapp Putsch (it was led by a man named Dr. Kapp), and it would have worked, if only all of the workers hadn’t decided to go on a general strike and paralyze the city. The Reichswehr (professional army) fled the city and refused to defend. Nothing really happened to the rebels though, because even the judges hated the government and wanted the Kaiser back. 

-These rebellions against the government could have been stopped more easily, but the country was in economic shambles after the Treaty. The combination of political and economic crisis is what proved to be fatal for the Weimar Republic. 

-In 1923, there was serious inflation because they lost both actual money (reparation payments) and the ability to make any money (industrial output and any of their profitable territories.) They simply printed off more money, but from 1921 onwards, the value of a mark plummeted. After falling behind on reparation payments to Belgium and France, they decided to take over Ruhr (industrial heartland of the country) in January 1923, and not leave until they got the coal they wanted themselves. The workers went on strike, and industry halted. 

-Only the rich could keep up because their land and factories grew in value alongside the prices. The middle class was suffering though, and began listening to a man named Adolf Hitler, and Austrian who served in WWI as a good soldier. 

-Hitler wanted to avenge the Treaty of Versailles, he hated Jews, and wasn’t too keen on Democracy. 

-After seeing the invasion of the Ruhr, and how the horrific economic conditions, he attempted the Munich Putsch (seizure of power) in Bavaria with his Nazi party (National Socialist German Workers Party). They hoped to get power here, then go to Berlin. Ludendorff came with him from a beer hall to the Bavarian Parliament on November 9, 1923. The 3000 Nazi Storm Troopers/SA/Sturmabteilung were shot at by the Bavarian Police. Some died, and Hitler was sentenced to a light sentence of five years, but was released after just nine months. This made Hitler seem like a hero for many people, and he also learned how to conduct himself (don’t get power by force alone.)

-1924-1929 were considered a good time for Germany, because of Stresemann, who was Chancellor for three months, leader of the small People’s Party, and then Foreign Minister until he died. 
 
Stalin

-Communist Russia wanted to be a great industrial and agricultural power, hence their symbol of the intertwined hammer and sickle. But this was a desire, not a reality for them. We can look at Lenin's New Economic Plan, and see how the allowance for small private trade and small private ownership proves this, because it demonstrates how the economic system was in shambles. 

-The majority of the peasants were desperately poor, but there were a few people, called Kulaks, who owned a little bit of land, employed other peasants, and owned a little bit of machinery (which was rare, because Russia was so technologically behind the West,) and sold their surplus harvest to the cities. Everyone sort of hated the Kulaks, who were the least bad off in a very bad situation. 

-The Communist Party was split up in two branches, the Left Opposition (Zinoviev, Kamenev, Trotsky, who thought that the only way for Russia to grow and survive economically would be if they expanded and modernised their industry rapidly) and the Right-Wing Deviationists (Bukharin, and Rykov, who wanted to stick to Lenin's NEP at all costs.) 

-Trotsky’s people advocated the spread of Communism and of revolutions in already developed countries, because once they too became communist, they would be able to help out the economically backwards Russia. This was called, International Socialism. 

-Stalin’s take on the matter was completely different, because he thought that the only thing Russia ought to be focusing on was Russia. If they could perfect the socialist system in their own nation, they wouldn’t have to worry about anything else. This notion was called, Socialism in One Country. How poetic...

-Stalin was a moderate, because he needed the support to defeat his rivals like Trotsky, who many people hated because he was a relatively new member of the party, and the older members were envious of the respect he was garnering. In 1917 after patching-up a dispute he had with Lenin, he rejoined the party, and moved up the power-ladder very fast. 

-Stalin had no trouble in finding other people who disliked Trotsky, so he teamed up with Zinoviev and Kamenev to get Lenin's Testament shelved (which advocated Stalin's removal from office) and to argue against all of Trotsky's propositions. In 1935, they got Trotsky ousted as Commissar for War. 

-In 1926, after new elections in the Central Committee, Stalin felt it was safe to oust Zinoviev and Kamenev, whose support he no longer had need of since new supporters were now in the Committee. He teamed up with his old opposition, Bukharin, to do this. They were put on Show Trials (they weren’t actually allowed to defend themselves, and they were forced to wrongly admit to crimes like conspiring with Trotsky to take over the Soviet Union) because they were afraid for their families or because they thought their deaths would help the country, or simply because of torture. 

-In 1927, Trotsky was forced to leave the country, and in 1928, Stalin won enough support to become the leader of the party. Soon after, in 1929, Stalin turned against his last ally, Bukharin, and ousted him as well. He faced the Show Trial and execution as well. 

-Stalin was a master schemer, so the fact that all of the other politicians had underestimated him (Trotsky called him a Grey Blur, and said that he was mediocre and forgettable) helped him to easily switch alliances until he got the position that he wanted. 

-Now that Stalin was in the position of utmost authority, he felt it was safe to start acting on the problems the country faced, and he did this ruthlessly. Ironically enough, the plan he settled on implementing was the one his great opponent Trotsky advocated in his day, the rapid modernisation and industrialisation of Russia. Stalin’s reasons for doing this lay in his fear of having Communism stamped out by the economically ready and industrially superior Western nations like the US and Britain. If Russia could catch up to them, they would not have to worry. 

-Stalin immediately began system of having three Five Year Plans, where they would start off by trying to triple their industrial production in heavy industry (coal, oil, iron, and steel), then to double and triple them again, and to then switch to light industry, like manufacturing consumer goods, so the Russian people would have a better standard of living. 

-The First Five Year Plan (1928-1932) dug mines, sunk oil wells, and built factories. They began to tap into their natural resources, and new cities were beginning to spring up in the mountains, and previously uninhabited areas. The workers were forced to work very fast and very hard, or else they faced life in labour camps called Gulags. They offered Capitalist-style incentives to the workers. The authorities claimed that the First Five Year Plan reached it’s goals a year early, but this is only true about the oil industry. Nonetheless, huge improvements were made, even if they were made under very high pressure and the workers were terrified. 

-The Second Five Year Plan (1933-1937) continued the conditions of the first one. 

-The Third Five Year Plan (1838-1842) was sort of a failure, because of the Second World War, and the necessary switch they made to armament manufacturing instead of consumer goods manufacturing. 

-Because of the Five Year Plans, the standard of living for the industrial workers in Russia really improved, but it’s good to keep in mind that these improvements came at a cost. Many people were sent off to Siberia because of their absenteeism in the workforce, and their lack of productivity sent them to the harsh conditions of the labour camps. Illiteracy went down, there was free medical care, and there were pension and sickness benefits.

-To switch to the other part of the Communist symbolism, those who were represented by the sickle instead of the hammer were still suffering at this point. 

-Lenin’s NEP had improved agricultural output, but the communists believed that they couldn’t continue allowing all of the small private ownership of the Kulaks, because communism entailed that land should be farmed in collective farms (Kolkhozy) or in farms owned by the state (Sovkhozy.) 

-The peasants were happy about this, but the Kulaks weren’t. They resisted by burning their crops and livestock instead of handing them over to the government. Within two months, about half of the peasants in the country had been uprooted and had to change their entire style of living. Stalin swiftly dealt with the Kulaks by sending many of them of long treks to the middle of nowhere, where many of them just died. About 5 million died like this, and another 5 million peasants at least died during the famine of 1932-33, that was partly caused by the fact that so many Kulaks burned their fields and animals. 

-To quell this disruption, Stalin granted concessions to some peasants, allowing them to have a few of their own animals and vegetable plots, and allowing them to keep 10% of what they make and share it amongst themselves instead of getting wages. 

-By 1937, about 90% of the farmland had been collectivised. By the fifties, the numbers for agricultural output finally reached their 1928 standards. Collectivisation wasn’t the huge success that the Five Year Plans were, but they still made improvements and modernisation still took place. This was all at a grave cost, though. Many people died. 

-The Ukraine was called the bread-basket of Russia, and it was the part of the Soviet Union that made the most grain. Because of this, the small little breaks in collectivisation weren’t tolerated here. 

-The Sovkhozy would be organized by the state with workers who would be paid regulated wages, while in a kolkhoz the system of payment was different. In Marxist theory this would turn the workers on the Sovkhozy into proletarian workers as they would be working for a wage using materials that were owned by the State. In both systems, a system of internal passports prevented movement from rural areas to urban areas. Initially, Sovkhozy farms were the ones which were created by the state confiscating large estates, while kolkhozes were typically created by combining smaller farms together.

-Stalin was becoming increasingly more paranoid as the years rolled on. The murders and exterminations of opponents were up until now, justified as being necessary for the progress of the nation. But now, the murders that were happening were only a result of Stalin’s fear of being replaced or having his position threatened. 

-In 1934, the chief of the Leningrad Communist Party, Kirov, was murdered, and this gave Stalin an excuse to start a campaign against all of the old Bolsheviks of his early days. 

-The Purges were when anyone who was thought the disagree with Stalin or his government in the air force, navy, or army was killed. About a third of the entire officer corps disappeared in this manner. This was in all reality, a stupid thing to do, because it left the army in tatters, and rather weak. Eventually, Stalin also had the head of the NKVD (secret police) shot (Yagoda) and all of his senior staff. 

-The Nazi-Soviet Mutual Non-Aggression Pact was signed on August 23, 1939. If there were ever a problem between the two countries, it was to be handled amicably. The pact was supposed to last for ten years; it lasted for less than two. What was meant by the terms of the pact was that if Germany attacked Poland, then the Soviet Union would not come to its aid. Thus, if Germany went to war against the West (especially France and Great Britain) over Poland, the Soviets were guaranteeing that they would not enter the war; thus not open a second front for Germany. There was a secret part of the pact, where the two countries carved up Poland between themselves. 

-In November 1943, Stalin, Churchill, and Roosevelt met in Teheran. Agreement was reached on the scope and timing of operations against Germany, including plans for the Allied invasion of France. Stalin reaffirmed his pledge to commit Soviet forces against Japan after the defeat of Germany. The final communiqué also stressed the need for cooperation through the United Nations in meeting the problems of peace. A separate protocol pledged the three powers to maintain the independence of Iran.
 
Roosevelt and the New Deal

-WWI was good for the US, but bad for Europe. The American presidents encouraged their people to take advantage of the need for American goods after Europe was virtually in ruins after the war. 

-In 1922, the Fordney-McCumber tariff made foreign goods more expensive, so they bought Americans instead. Also, the presidents cut taxes so people could actually buy things. So, in the 1920’s, everyone had a washing machine, and everybody was happy.

-The Stock Market crashed in October of 1929 when people freaked out and sold all of their shares (that were bought with borrowed money) when a few shares began selling at high prices. Prices collapsed because of this. 

- There was a lot of over-production. Americans didn’t stop making a lot, even when the Europeans regained the ability to make their own stuff. Prices fell, and farmers couldn’t pay their mortgages and the banks took their farms from them. 

-The same thing happened in industry, when they just made too much. No one bought this extra stuff, so people got laid off, and once again, no one could buy anything so more people got laid off, etc. 

-There were new forms of energy, and new fashions that didn’t involve as much old timey fabric, so coal and cotton demand went down. 

-Other countries put up their own tariffs in retaliation, so there was economic isolationism. 

-There were the Poor Man Clubs that were closed down thanks to the Christian Women’s Groups, and Gangsters stepped in to take control of the illegal liquor trade in Speakeasies. 

-There was a lot of racism, and they cut down on immigration from Southern and Eastern European countries. They government did nothing to stop the abuse of Black Americans. 

-President Hoover (Rep.) was there for the first part of the depression, and he believed that Americans should fend for themselves, and did nothing to help to state of the country. 

-Hoovervilles were little shantytowns that were set up in and around bigger cities after people got evicted from their homes and were forced to live in shacks they made themselves. 

-FDR was a Democrat who came from a rich Dutch American family, and after climbing the political ladder in the country, won 42/28 states. 

-He immediately began to make changes, starting with his 100 days of tackling immediate problems. Then, the First New Deal from 1933-1935 would create jobs and set the USA on the road to recovery. The Second New Deal would follow from 1935-1939 would be concerned with improving welfare services. 

-10000/25000 banks had shut down after everyone freaked out and took their money out. Roosevelt needed to convince the people that their money would be safe in banks. 

-The Emergency Banking Act closed all of the banks in the country for four days so people could stop taking out their money, and then only the banks that were truly reputable and reliable were allowed to reopen. 

-Roosevelt started the traditions of the Fireside Chats. 

-The Federal Emergency Relief Act gave $500 million to the hungry and jobless for work. 

-The Economy Act cut down the salaries of state employees & prohibition was abolished. 

-The Second New Deal gave Americans the Social Security Act, which provided pensions for the old, widowed and maimed. 

-The Wagner Act gave trade unions the legal right to negotiate wages for their members, and their hours of work and wages were fixed by the Fair Labour Standards Act of 1938. 

-The National Housing Act reduced rents and built new homes. 

-FDR was re-elected in 1936, 1940, and 1944. In the end, it was WWII that helped the country get out of unemployment the most. 

-Wealthy business-men didn’t like FDR, and there was a lot of fear of growing Communism in the USA. 

The Fall of Napoleon, 1812 & 1815
-Napoleon invaded Russia in 1812
-His Grand Army was only 1/3 French, and saw this as a way to unify Europe.
-Reached Moscow in September, and it was on fire, probably because of Russian defensive action.
-Because of this, they were forced to leave.
-In 1814, he was sent to Elba, but escaped, and rallied with surprising support in France.
-He took to the field again.
-He was defeated ultimately by the British and Prussian armies at Waterloo.
-Eventually, he was sent to St. Helena in South Atlantic, and died.
 
The Congress of Vienna, 1815
-All European states sent representatives after the downfall of Napoleon, in hopes of gaining a balanced system of power.
-The decisions that France was not allowed to keep all of their acquired territory, that France was now under that rule of Louis XVIII, that Spain was under the control of Ferdinand VII, and other border/territorial disputes were settled. Among other things.
-Important people there included Alexander I (Russia), Metternich (Austria), von Hardenberg (Prussia), de Talleyrand (France), and Lord Castlereagh (Britain).
-The Congress was for the most part successful, since the peace they achieved lasted around 40 years.
-Four powers dominated during the congress: Britain, Austria, Prussia, and Russia
 
Metternich’s “System,” 1820’s-1840’s
-Metternich did not believe in having a compromise with liberalism or nationalism, he was the picture of conservatism.
-He believed that loyalty to a dynasty was of the utmost importance.
-He didn’t believe in any moves that got Germany closer to constitutionalism in German states, because this was dangerous for Austria.
 
Liberal/Nationalist Revolts, 1848
-A series of republican uprisings against European monarchies occurred in this year, starting in Italy, and making their way across the continent to Austria and Germany.
-In France, the Second Republic was established, putting Napoleon III in the presidential seat.
-Central Europe could have been swayed to submit to liberal political reform and unification, but the monarchies in power had strong militaries, and they ended up crushing these revolts. 
-For the most part, the liberals were let down, and monarchs remained in power.
 
Italian/German Unification, 1960’s
-The Italian states of Parma, Modena, Tuscany, and Emilia-Romagna saw nationalistic movements, and in 1859/60, these states unified with Piemont.
-Piemont gives Savoy, Nice to France, and the French occupy the area around Rome (Lazio.)
-Garibaldi, led a movement in Sicily, and expelled the Bourbon Dynasty from there, in 1860.
-In 1866, Austria gives up Venice, and in 1870 Lazio is returned. 
-Italian unification left Rome the capital, leaving the country very centralized, which was bad for the south and for church (property taken).
-In Germany, Bismarck was the main man responsible for unification. 
-Bismarck believed in Realpolitik (politics based on severe rationalism); he got power in Prussia, where he was a reactionary; he believed that “traditional elites must join with the nationalists to survive.”
-In 1862, Kaiser Wilhelm I tried to get the military up and running again, and to calm the traditional elites, he put Bismarck in charge of the Prussian Cabinet. (Minister-President of the Prussian Cabinet and Foreign Minister.)
-In 1864, Bismarck made an alliance with Austria, because he wanted to get Holstein and Schleswig for Prussia and Austria respectively, and did so. But, this caused administrative issues in Austria. 
-In 1866, there was a 7 Week War because of the Schleswig territory issue between Prussia and Austria, and Prussia won. 
-Austria was no longer part of Germany. 
 
Franco-Prussian War, 1870-1871
-This war was waged on Prussia by France, and it marked the uprising of imperialism and military power on the part of Germany. Bismarck was a driving force behind the war, as it was part of his plan to create a unified Germany.
-The immediate cause for the war was when the throne of Spain was offered to a Prussian, and Bismarck advised the offer to be accepted, but it was rejected because of French protest. 
-Aggression ensued on both sides, and France declared war in July. 
-France was not equipped with modern military patterns, and the reserves they had along the Rhineland were not enough. 
-Eventually, the French army was defeated, and Napoleon III was captured, and the Second Orleanist Kingdom was in power in France. 
-The Treaty of Brussels brought an end to the war, and France had to pay severely. France and Germany now saw each other as mortal enemies, and this was a contributing factor to the First World War. 
 
 
Timeline of Hitler and the Nazi Party
1923 - On September 24, Stresemann angers the German nationalists by stopping the resistance in the Ruhr, causing the People's Party to lose support. This was an opportunity for the Nazi party to gain more influence and votes. 
- The German mark inflated more than it ever had, so this caused people who were suffering (mainly the German middle class) to listen to Hitler. 
- Hitler led the Munich Putsch in November, and ended up getting arrested. Also, many members of the Nazi Party ended up getting shot and killed at the hands of the Bavarian police. This obstacle kept Hitler in jail for a little while, but at the end of it, he learned how to conduct himself. 1924 -The Dawes Plan was implemented.
- Stresemann began to make many improvements in Germany in this year including stabilizing the German currency by installing the Reichsmark. The improvements that Stresemann made to the nation was an impediment for Hitler and the Nazi Party, because there were fewer depressed Germans to appeal to. 1925 - Franco-Belgian troops withdrew from the Ruhr in this year, thanks to Stresemann’s agreement with them to start paying their debt again. (The Dawes Plan.) This was an obstacle for Hitler and the Nazis because it lessened their support. 
- Germany signed a series of Locarno Treaties that improved international relations. Once again, these national improvement lessened Nazi support.1926 - Germany was allowed to join the League of Nations, thanks to Stresemann. This new acceptance into the international forefront made things more difficult for the Nazi Party and for Hitler, because there were fewer problems in the country that he could promise to fix, therefore fewer people to appeal to. 
1927 - Hitler was allowed to make speeches in Bavaria again after the Munich Putsch. This was a good thing for him and his party, because he would be able to do what he did best: amass support by appealing to emotions publicly. 
1928 -Even though support for the Nazi Party was lessening as the German economy prospered, this year hinted at what was going to be an economic depression when unemployment went up and the agricultural industries were declining. 
-The Nazis were getting more and more support in the rural areas, where the farmers were already beginning to suffer because of the state of depression of their industry. 
1929 -Stresemann died in this year, and the world really began to face the truth of the economic depression that was rapidly affecting them. This made support for the Nazi Party skyrocket. 
-The United States called back its loans from Germany, and this problem once again worsened the state of the country, which caused the support for the Nazis to rise. 
1930 -The German Chancellor, Bruning cut unemployment and welfare benefits. Support for Bruning and his party, the Centre Party, plummeted. Conversely, support for the Nazi Party went up. 
-General Hindenburg called an election in September, and the Nazis got many more votes. The Reichstag (Germany’s Parliament) was no longer the centre of political control, because Bruning was now governing without the Parliament’s consent, by decree. These occurrences were all advantageous for the Nazis. 
1931 -Unemployment hit 4 million in Germany in May of this year, so there were more people for Hitler to appeal to and to get support from.
-The conditions in Germany worsened, while the conditions for the Nazis got better. 
1932 -During the elections of March of this year, Hitler won 13 million, while Hindenburg won 19 million, so the Nazis were catching up in terms of support from the people. 
-Bruning resigned from his position as Chancellor in May, and was replaced by Franz von Papen, whose leadership was lacking. This left the door wide open for Hitler to make his move. 
-Von Papen lifted the ban on Hitler’s SA, so this was advantageous for the Nazis.
-The elections in July saw a rise in Nazi support to 38%, so they were the most influential party in the Parliament. 
- Unemployment reached 6 million this year, so this fuelled Nazi support even more. 
1933 -When von Papen left, he was replaced by yet another incapable leader, von Schleicher who left after he was refused the ability to govern by decree by Hindenburg. 
-Two days later, von Papen was replaced by Hitler as Chancellor, who Hindenburg thought he could use to settle the crisis and then throw away. 
-Hitler began his assault on Communism as soon as he got into power, and eventually he outlawed them. 
-Hitler put through the Enabling Bill, which allowed him to make laws without the Parliament’s consent for four years. 
-Hitler then stopped the Socialists, the Centre Party, and the trade unions until the only legal party left was the Nazi Party. This very quickly and very easily gave him dictatorial power in Germany. 
 
The National Socialist State
-Herrenvolk --> master race
-Hindenburg died in 1934, and Hitler abolished the titles of both Chancellor and President and made himself the Fuhrer of Germany.
-Hitler cleared out of office anyone he didn't trust, and the country was divided into districts that were controlled by a Gauleiter who Hitler appointed. 
-The Gestapo (secret police) was under the control of Heydrich, and they had to seek out and destroy any possible enemies of the party. They could just randomly pick whoever they ‘suspected’ and put them into ‘protective custody’ which was imprisonment without a trial. 
-Himmler controlled the regular police and the SS (who were in charge of the labour camps.)
-Hitler encouraged rivalries between people underneath him, like Goering and Goebbels, Heydrich and Himmler, so it lessened the threat of them wanting to compete with him. 
-Hitler in reality hated Socialism, but put on a socialist show at the party’s beginning to attract more supporters. Because of this, there were many Nazis who liked the socialist ideas. These people included Ernest Roehm, who led the SA. 
-Roehm wanted big firms to be nationalized, and to scrap the professional army and replace it with the SA, with him at the helm. Hitler didn’t want these things, because he’d lose rich supporters and the people who were in the Reichswehr. 
-The Night of the Long Knives happened on June 30 of 1934, and it was when Hitler ordered the SS to move against the SA. At least 100 Brownshirts were shot, including Roehm. Von Papen narrowly escaped death, and von Schleicher was killed. Goebbels and Goering took this opportunity to take down any of their personal rivals. The army now had to swear a personal oath to the Fuhrer.
-Young boys started in the Pimpfen at 6, then at 10 took a test to go the Jungvolk. At 14, they could join the Hitler Youth. Between 18 and 25, a year of labour service had to be done. After 1935, there were also two years of military service. 
-Young girls started at 10 in the Young Maidens, then went on the League of German Maidens at 14. They had to learn girly stuff. Kinder, Kirche, Kuche. (Kids, Church, Cooking.)
-All of the teachers had to join the National Socialist Teacher’s League or be sacked, and they had to teach what the Nazis said about Jews being biologically inferior. 
-In 1933, he signed a Concordat with the Catholic Church where they promised to leave each other alone. But this didn’t last long because the Catholics didn’t like the Nazis, and their Youth groups went all West Side Story. Hitler then shut down church schools, and in 1937 Pope Pius XI condemned the Nazis. Priests and Nuns were sent to the camps. The Protestant Church also resisted. 
-In April 1933, the SA led a boycott against the Jewish doctors, shops, goods, and lawyers. Jewish civil servants were dismissed. By 1935, they were forbidden to go into many public places like swimming pools and park. 
-In September of 1935, the Nuremburg laws stopped Jews from marrying any Non-Jews, voting, and holding citizenship. 
-In 1938, a German diplomat was shot by a French Jew, and the SS organised an attack on Jewish property in Germany during the Crystal Night, where synagogues were burnt, businesses were destroyed, and many were beaten to death. 
-The Concentration Camps and the deliberate extermination of Jews didn’t start until 1942, but 20000 Jews were sent to labour camps in 1938. 
-During the 1936 Olympics in Berlin, Hitler cleaned up most of the Anti-Semitism to look good globally. He didn’t shake any black people’s hands (he could either shake everyone’s or no one’s. He chose no one’s.)
-Life was good if you weren’t a Jew, homosexual, a priest, a gypsy, a Communist, or a Socialist. 
-In 1933, there were no more trade unions, and no more striking. 
-In 1934, Hitler began his rearmament policy and a year later, there was conscription. This reduced unemployment, but was against the Treaty of Versailles. He started a Luftwaffe. The Navy made big boats. Wehrmacht meant armed forces, and it’s what Hitler called all this. 
-In 1938, the Commander and Chief of the army, Fritsch and the War Minister were forced to resign, and Hitler became the Minister of War. 
-Hitler wanted to increase their exporting, reduce their importing, and end unemployment. He wanted Autarky, which was economic self-sufficiency. 
-The problem was that they could not make enough raw materials on their own to sustain themselves. This would be fixed by having other countries that had the things that they needed come under Nazi influence and control. 
-Hitler’s Minister of Economics, Dr. Schacht, controlled the imports of raw materials. This meant that firms had to make what the Nazis said, because all the raw materials had to come from the government. They increased iron imports so that heavy industry could be increased, and they could make arms. This brought an end to unemployment. 
-Unemployment was combated with things like cheap housing for the workers, and big construction projects like the Autobahn. The workers got perks like cheap theatre tickets and vacations. 
-Experiments to replace natural materials with synthetic ones failed. It ended up being so that they rose how much they imported, and decreased how much they exported. 

